Lecture 9 Shadowitz finish chapter 3 and begin chapter 4.
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Why did you say that (informational)?
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Why did you say that (informational)? 3 m:—w—




We left off here in Monday's lecture:
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v can the divergence of B be zero if there is a source of B (incongruous)?

asn't the divergence tell us about sources of the vector field (incongruous)?
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Why is ] a function of the
unprimed variables(incongruous)?




What have we covered?
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Questions about % M;S' ﬂ‘z = %%»AF/Z

There ar

e infinitely many surfaces that share the same boundary line. Which one

are we s

upposed to use (congruous)?
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What are we going to cover?

1) Ampere's law examples

4.) Define voltage and potential energy in electrostatics.

1.) Infinite planar sheet of charge moving at constant speed v and charge density sigma.
How do you calculate B (congruous)? },
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What do we know and what do we want to find out (informational)?




.) Two infinite planar sheets of charge moving. L4 4 \/
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at do we know and what do we want to find out (informational)?
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The Helmholtz theorem says we need curl of E along with its divergence

to specify E in a finite region of space.
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How do | calculate the curl of E (congruous)? v L E - <
Questions?
What about the work done in a magnetic field where the curl is non-zero (analogy)?




(2) Fix chargessov=0then F=qE+0
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charge den5|ty is greater than the positive thus attracting Q as expected.

infinite current moving along a line.

Example: infinite straight wire carrying constant current
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